

V A J A

$$8,4 - \overset{10}{\cancel{2,88}} \cdot \overset{10}{\cancel{2,4}} + 3,7 =$$

$$= \underline{8,4} - 1,2 + \underline{3,7} =$$

$$= 12,1 - 1,2 =$$

$$= \underline{\underline{10,9}} = 10 \frac{9}{10}$$

19.1

$$\begin{array}{l} | \\ | 28,8 \cdot 24 = 1,2 \\ | \end{array}$$

$$\begin{array}{l} | \\ | 48 \\ | \end{array}$$

$$\begin{array}{l} | \\ | 8,4 \quad 12,1 \\ | \end{array}$$

$$\begin{array}{l} | \\ | + 3,7 - 1,2 \\ | \hline | \end{array}$$

$$\begin{array}{l} | \\ | 12,1 \quad 10,9 \\ | \end{array}$$

|

$$\underline{47 \cdot 2,3} - \underline{0,12 : 0,3} =$$

$$= 10,81 - 0,4 =$$

$$= 10,41$$

$$\begin{array}{r} 47 \cdot 2,3 \\ \hline \end{array}$$

$$\begin{array}{r} 94 \quad 10,81 \\ 141 \quad 0,4 \\ \hline 10,81 \quad 10,41 \end{array}$$

$$1,2 : 3 =$$

$$12,7 - (3,4 + (8,6 - 7,8)) \cdot 0,5 =$$

$$= 12,7 - (3,4 + 0,8) \cdot 0,5 =$$

$$= 12,7 - 4,2 \cdot 0,5 =$$

$$= 12,7 - 2,1 =$$

$$= \underline{\underline{10,6}}$$

$$\begin{array}{r} 8,6 \\ - 7,8 \\ \hline \end{array}$$

$$0,8$$

$$\begin{array}{r} + 3,4 \\ \hline 4,2 \end{array}$$

$$\begin{array}{r} 4,2 \cdot 0,5 \\ \hline 2,10 \\ \hline 2,10 \end{array}$$

$$\begin{aligned}
 & (5,1 - \underline{2,3 \cdot 0,4}) \cdot (2,8 + 3,1 \cdot \underline{(0,2 + 1,9)}) = \\
 & = (\underline{5,1 - 0,92}) - (2,8 + \underline{3,1 \cdot 2,1}) = \\
 & = 4,18 \cdot \underline{(2,8 + 6,51)} = \\
 & = 4,18 - 9,31 = \\
 & = \underline{\underline{38,9158}}
 \end{aligned}$$

$$\begin{array}{r}
 9,31 \cdot 4,18 \\
 \hline
 3724 \\
 931 \\
 \wedge 7448 \\
 \hline
 38,9158
 \end{array}$$

$$\begin{array}{r}
 5,10 \\
 - 0,92 \\
 \hline
 4,18 \\
 2,3 \cdot 0,4 \\
 \hline
 0 \\
 92 \\
 \hline
 0,92
 \end{array}$$

$$3,2 \cdot ((7,6 - 2 \cdot 1,8) \cdot (1,5 - 0,7)) =$$

$$= 3,2 \cdot ((7,6 - 3,6) \cdot 1,2) =$$

$$= 3,2 \cdot (4 \cdot 1,2) =$$

$$= 3,2 \cdot 4,8 =$$

$$= \underline{\underline{15,36}}$$

$$\begin{array}{r} 3,2 \cdot 4,8 \\ \hline 128 \\ 1256 \\ \hline 15,36 \end{array}$$